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1. AKRE: $BAKREAR (mL) « WA (mL) « W7 A (mL) A 10:1:2 BIELG] CEUR 1mL
JKEE, I 100pL 57 —H1 200pL X771 =) 95°C /K 30min, & &5 7.

2. b BEERE (g) o AMWKAR(mL): WA (VD) - lF AR (VD) =1 10112 (Y
FRELZ) 0.1g HFE, I ImL 248K, T 100pL 375 —H1 200pL 75 =), 95°C#/K#R% 30min,
10000g , 25°C 5.0 10min, HL i RAFN.
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PrAfERIZE: y = 0.0237x + 0.0016, R2=0.9989; x N POSIKFE ng/mL, y AWLMEAA.

1. KFE:

B SR (pg/mL) = (AA-0.0016)+ 0.0237xV £+ (V FE=+V FEi)
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= 54.8x(AA-0.0016)

VRERER SR (pg/g) = (AA+0.0063)+ 0.0489xV ¥+ (WxV FE+V FERLD

=54.8x(/A A+0.0063)+W
VR IIAFEARMER: 0.04mL; VFEE: FEASMAEP, 13mL:; W, LHRE, g.
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2. KrHBRA 65 1 g/mL 5 65 1 g/g.
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